1) Calcule sans poser l’opération.

547 +  430 = 977                         240 + 605 =845
2 978 + 4 000 =  6 978                 419 + 370 =789
350 + 300 =  650                        306 + 1 50 = 456

2) Ecris le résultat.

500 + 20 + 8 = 528
300 + 90 + 6 = 396
500 + 20 + 50 + 8 =578
70 + 8 + 400 = 478
5 + 30 + 200 + 6 000 = 6 235

3) Donnez Le nombre qui suit.

479 …… 480               	   	1 079 ………1080
389 …… 390             		     2 990 … 2 991.
456……… 457             		   4 245 ……4 246

4) Trouvez ce qui vient après
[bookmark: _GoBack]125 ; 250 ; 375 ; 500 ;  750 ; 1 000 ; 1 250 ; 1 500 ; 1 750 ;
405 ; 355 ; 305 ; 255 ; 205 ; 155 ; 105 ; 55 ; 5 ;
523 ; 723 ; 923 ; 1 123 ;1 323 ;1 523 ; 1 723 ;1 923 ;2 123 ;
75 ; 150 ; 225 ; 300 ; 375 ; 450 ; 525 ; 600 ; 675 ;

